LY
110
P pKA(CH,NH, /CH NH,) Sai
CH,NH, +H,0 = CH,NH, + HO™ -1
PR S PXE )

. . K *1opH
dgdaa Jel@il) ) 7= — =-0126=126% -3

B
[HO ]:[CHsNH;]:[%rG,S.lO Smol LY -4

[CH,NH,]=C, |[HO|=437.10?mol.L™
« - leHsNHz JHo | JeHaNH: JHo oot _ K,

-5
[CH,NH, | [CH,NH, ]H,0" ] K,
k=63107)° 508104 -6
4,37.10 2
K

pK, =10,96 $ K, = Ke =11.10" &)

. Gl 8 CH,NH, ¢ g o) 0l pH - pK, olba -7
el o]
CH,NH, +H,0" - CH,NH: +H,0 -1
H,O" & 8l 38 aaall Jelital) -2
CH,NH, & 38K day daal) Joliial)
CV,e = CpV, @ Jhsill aie .3
CV

C, =24 =510 *mol.L* &3
VB




E L
= — I =—

R R

-
i _ RE A
fO)=Rit)=—(@0-e’") -«
Ug(t) = Ri(t) Rt( e’r)

Ug(e0) = E -

*
RE =1 = RE —R=30 6—302109
Ug () Ug () 4,5
L=r*R 9 7=5ms Ol

L=02H =200mH &

3¢l

g A gl
E=6V &Y u (0)=E O alad
T=2ms

T (2.107%)2
" 47°C  4r%*055.10°°

=018 H
E, (0) = E,(0) = %Cué =9,9.10°J

E,(3T) =E.(3T) = %Cué =6,87.10°J
J9 Jordas gebua oo ABUl) Gluali G

-4

1
2
-3

-4






